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/ Instructions to Candidates
** Answer ALL the questions.

I ™ R T e —
» oa=|—1 -2 =1 3 1
««0'!‘ Reduce the matrix A= 2 _3 0 3 -1|® echelon form and hence 3
b 0 -3 -6 4 9
find rank of A.
1B. Solve10x + 2y +2z=9,~2x+3y + 10z = 22,x+ 10y —z = —22 by 3
Gauss-Seidel method. Carry out four iterations upto four decimal places.
) ’l/),- 1C. Solve xyln (—{) dx + (yz —x%In (i)) dy = 0. 4
A4
)\ 2A. Find all the eigenvalues and eigenvector corresponding to least eigenvalue of
1.4 .38 3
[1 5 1].
‘ 3 1 L
2B. S 3
. Solve x°y" +3xy' +y Tioan
‘L— , € 2C. Solve the simultaneous differential equations
I " 4
% Y e
/,)/w Z—5x+y,dt—y 4x.
)/ 3A- Evaluate J= 22X dx by Simpson’s = rule with h = <. 3
1+4x 3 12
=
3B. Using modified Euler’s method, solve the initial value “pr‘oblem ' 3

L = logys(x +3), ¥(0) =2atx =02 Take h = 02.
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3C. Giveny’ = y2+ X, Y(O)=1 » find y(0.1) and v(0.2) using Taylor’s series

44,

4C.

4B,

5B,

method, by considering

Obtain a real root of the

Raphson method. Carry

terms up to x4,

equation 3x +sin x —¢*= () per % = 0by Newton |

out four iterationg correct to 4 decimal places.

Use Lagrange’s interpolation formula to find the valuc of x whep y=20 ]
- using the following data: i

Test for consistency,

2x1 = 2x,+ 4x3+3x, =9

X3 —x, +2x3+2x4=6
2x1—2x2 +X3 +ZX4=3

X=X +x, =2

Solve £ _ 42 tdy=x2e¥ry gy
axd dx

Using Giafn;Schfﬁidt process'ﬁnd an orthogoﬁai set of vectors

3C.

from {(1,1,0), (1,0, _»
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